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CREDIT REQUEST FORM BA

'fhis form is to be use d ',r'hen you have attcnded a course that is not sponsorcd b1' an AccrcditedProvider. Larvyers seeking Pennsylvanra

CLE credits must cor.nplcte Scction B of this tbnn and rcturn it to PACI-E. along u'ith a Unitbnrr Certiflcate of Attendance. if arailable.
and a check niade parrable to PACI.E fbr the S,l.50. per credit hour attcndarrce t'ec pavrnent. Please re fer to Sectron C to calculate the
-,\'Y,-^t ott,.'..,1o'..n 11.,' .,-.. l)aylllcllt.

SECTION A : Course Information

Prowider : 1242 Intemational Insolvcncy Institute

Course t 216897 III Ncxt(lcn Lcadership Program and Class V Induction (-508258)

Date: 06 0,5 2016 08:10 LocaEion: 'l'okio. 
Japan

TobaI CLE CrediE Hours: I\laximum: ,5.00 -' 5.00S

SECTION B : Lavryer Information

PA Lawyer IDLau'y'er Namc

Addrcss

Citv Statc ztp

Bv signing belou'. I certif't' that I attendcd the acti\ itv dcscribed abor e altd am entitled to claim:
Substarrtivc:

qi.r,.,rtt,i-

I arr enclosir-rg check I

NOTE: lf you attended the maximum 5.OO credit hours for this course, please enclose $7.50
attendance fee payment. See Section C below for calculation.

Datc

1or S

SECTION C : Attendance Fee Calculation

Irennsylvania grants one (l) CLE credrt fbr each 60 r.nrnutes of attendance at an approved course. Pennsvlr'ania requires a S1.50 per

credrt hour atterrclance l'ee pavment. -l'l.ris 
S1.50 l'ee is also required tbr anv portion of a credit hour. We accredit onl1, progranls that are

at leasr one hour longt: rn addition. u,e accredit only rn half hour increments. Please refer to the example belori.'uhen calculating rour

attendance t'ees.

I :r:j-:r' = r.r: :.a a.a 2hr:rs = Sj.:: 2.'a) : l]rls = S! al 3 a :o'1 hcurs = S6 !-i

=.a :t a ---r.e = Si r! 5.5 :a 6 htr;fs = S:.:: a.. .. t l'rtr::s = S-: a: 7 5 tc 8 rours = S12 iC

e:: .


